RD SHARMA
Solutions
Class 8 Maths
Chapter 3
Ex3.7



Find the square root of the following numbers in the decimal form:

1.) 84.8241

Answer:

Hence, the square root of 84.821 is 9.21.

2.)0.7225

Answer:

Hence, the square root of 0.7225 is 0.85.

3.) 0.813604

Answer:

Hence, the square root of 0813604 is 0.902

4.) 0.00002025
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Answer:

0.0045
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Hence, the square root of 0.00002025 is 0.0045.

5.) 150.0625

Answer:
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Hence, the square root of 150.0625 is 12.25
6.) 225.6004

Answer:
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Hence, the square root of 225.6004 is 15.02

7.) 3600.720036



Answer:

Hence, the square root of 3600.720036 is 60.006

8.) 236.144689

Answer:

Hence, the square root of 236.144869 is 15.367 .

9.).00059049

Answer:

Hence, the square of 0.0059049 is 0.0243
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10.) 176.252176

Answer:

Hence, the square root of 176.252176 is 13.276

11.) 9998.0001

Answer:

Hence, the square root of 9998.0001 is 99.99.

12.) 0.00038809

Answer:
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Hence, the square root of 0.00038809 is 0.0197.

13.) What is that fraction which when multiplied by itself gives 227.798649?

Answer:

We have to find the square root of the given number:

15.093
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Hence, the fraction, which when multiplied by itself, gives 227.798649 is 15.093.

14.) The area of a square playground is 256.6404 square meters. Find the length of one side of the playground.

Answer:

The length of one side of the playground is the square root of its area.
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11

6| 156

6] 156
3
2

6404
6404
0

So, the length of one side of the playground is 16.02 meters.



15.) What is the fraction which when multiplied by itself gives 0.00053361?

Answer:

We have to find the square root of the given number:

0.0231
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Hence, the fraction, which when multiplied by itself, gives 0.00053361 is 0.0231.

16.) Simplify:

V5929529
V392945 29

(i) V023040 1764
1) —/—/—/—
\0.2304—\0.1764

(U]

Answer:

(i) We have:

V3920 = 5929 _ N7x7xI1x11  _ 7x11 =77 I_5.29=\/E_ 529 o3 V3929329 7723 _ 54 ~ 54

100 10 10 100  ioo 10 2 5959335 7723 10

(ii) We have:

0.2304 = \EX%

10000
2X2XZX2X272x2x2%3%3
\10000

_ 2x2x22x3 _
100 0.42

V0.2304+V0.1764  _ 0.48+0.42 _ 09 “1s
V0230401764 0.48-0.42 0.06

17.) Evaluate V50625 and hence find the value of V506.25 + V5.0625

Answer:

We have:

N50625 =V3 x3x3x3x5x5x5x5%x5=3x3xx5x5=225
Next, we calculate V506.25 and V5.0625

\Z0F7% = 50625 — V52635 _ 25 _ VS 005 = /50625 — V52625 _ 225 _ V30673 + V30695 = -
506.25 \/W o o 22.5V5.0625 \/m oo 100 2.25306.25 +\5.0625 = 22.5 +2.25 = 24.75

18.) Find the value of V103.0225 and hence find the value of:



(i) V10302.25
(i) V1.030225

Answer:
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The value of 103.0225 is:
Hence, the square root of 103.0225 is 10.15

Now, we can solve the following questions as shown below:

(i) V10302.25 = V103.0225 x 100 = V103.0225 x V100 = 10.15 x 10 = 101.5.

e A _ ,/103.0225 _ V103.0225 _ 10.15 _
(ii) V1.030225 = 0 w10 1.015



